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It is merely a potsherd — RI7 XDy RDON

OVERVIEW

Our mwn states that all N1VW (except 272y NN W1 *V3) are W2 even if
they were presented and signed by 0™>2y Hw nmx>7y. The X723 asked how a
7inn ow, which transfers the property, can be effective (since there were no
SR >TY); it is a Xnoya xoom. *"wn explains' why the X3 did not establish
that the mwn is discussing a case where there were X 7701 73,
However, no01n rejects s""w1 explanation and offers one of his own.

— NN ITYHN 229 19201 11Ya NIYY 8N MNT DIVIPA YD
>'"w9 explained that the X723 could have answered that there were >Tv

719%%» on this 71n» VW and the 71w is according to K'Y who maintains >7v

>n15 7von. The reason the X173 did not offer this answer is -
— NI RPINT NMPYWT NN

Only because it is an awkward answer; >"v1 explains why this is considered a
RPOMT XD -
— 9TPIN 2397 INVYA PNYNVY 529 XSO NYY 139999 b N
Because previously when the X713 attempted to establish our mawn (of 9>
N2 MIRDTYA 2w Mwwn) according to X", the X7y challenged this
assumption, saying, ‘since the Xin of the X230 of this mwn (who maintains
that all MXDIY2 D°2WH NINLY are W3 even 2°W1 °v3) is ' who follows the
view of R''9 (regarding *n70 n"y) -
— TYHN 229 IND NWYT DO

We can infer that the P"n of the Xw>9 disagrees with R''9 and maintains 7
'n75 an°nn’. Therefore, *"wA concludes that to establish the p"n of our 71wn according to
X" is a Rp A7 XMW,

mooIn disagrees with >"w7s:
— "NIPONN 1Y INWI TYIN 229 NPDN YTYAT \IVPN NAVINT AU

And it is difficult to accept this explanation, for on the contrary this
answer that our 71w» (of NMXJ7Y) is in a case where there are 179%% 7Y and
we are following the view of R'"9, this answer remains according to the

Doin oy,

? This would explain why it is a valid 7an» "uw, for the 77°0n *7v make the 13p effective.
3 2,9 (on the very bottom).

4 (Top of) &,
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conclusion of the X3 previously -
— PYITPA NIPYT NNDM 50D 53 %wn4
For the X7n3 answered that the Xn»12 teaches (the similarity between >0

w1 and 2°72¥ *NNW) only the similarities which is not found by w1 7p.
This proves that we are following the view of X" regarding *n73 "y -
— *RMINTI MINIIY 195509 PYITHA IDAN YN 2991 N0 1TY NYA INT

For if our mwn (of MX>7Y) is in a case where there are no %"y and
according to »'"9 (who maintains °n7> 7n°nn °7Y) then even by a ww
Pentp we will disqualify XnsmRt2 a PP 0w which was signed

NINDTYA. Therefore we must say that according to this answer we maintain that *n73 n"y
like x".°

mooIn offers his explanation why we could not answer X"77 R2°9R) 77°07 73:
- 71:",711:”3 MNYI NI°01 21¥a N VI 139DDIT 9557 Y97 PN 13929 IIINY

And the ' answers that just as we invalidate a vs which was signed by
NMXOY even if there were 2'"'Y and 2%77721 NAW; the reason is -
— 55N 199D 31Y K9 175y 1202120 YNN NNYT DIVN
Because we are concerned that perhaps we will come to depend on the
MRy even without the Jewish 2"y -
— 713 90Ya 139509 ) %N

Similarly we also disqualify NX>7¥ by a 77an» W as well, even if there are >y
DR 770N,

> The similarity between 2°w3 > and 272y MY regarding MXDIY 7109 is one of the three similarities
mentioned in the ¥n>72. The X 1) concluded that the Xn*72 mentions only those similarities which are not
shared by 1wk *w17p. If we maintain that the NMX37Y 2109 is with X w> 77°01 *7¥, then we can say that by
PR it will be a valid Pw1p (since 07 77701 19 [and we cannot be H0an these WP, since RN™IRTA
she is nwTIPn]), however by 0°w1 *v°x the 2151 were M3 (that it is not a valid 1w17°3 and she needs a new ©3)
so we should not depend on the MR (see 19102 ,XN7°1 7"7 K, >"wM). If however we follow the view of n"9
that >n73 ma°nn °7v, then just as 0°72y "NNWY D°wW1 v are 2109, the same will apply to 1uwa 7w W p
MRV,

® Even though this merely proves that the Xin of the Xn»12 must follow the view of X", but not necessarily
the Xnp Rin of our m1wn (as *"w points out in the parenthetical remark), nevertheless once we see that the
X713 accepts this answer, it cannot be considered a Xp 17 X1 w (see 2"wAnn).

7 See X,> and X,X* that 2°pi2m MY are names used exclusively by 2">2y, where there is (seemingly) no
concern that we will assume that they are o°ox .

¥ If we will allow this v (which was signed by the nX27w) to be Tw> since there are X W 77700 79, it is
possible that people will mistakenly assume that it is w3 because the MR are M7Y? w3 and will permit
such a vy even if there are no X W° 7700 *7v, but only 2™>dy 7701 *7v. In such a case the vy is 7109
XNPIRTN.

? The reason it is 7109 is because we are concerned that people will use mX37w for a M WY even without
DRI 717%0n 7Y,
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mdoIn explains what is the concern by 71n» qvw signed by mxaaw: '
— ORI 1AV 999 N9 $9VWA KON DNNRNY 03990 1350 NYY

And the 232517 never instituted to believe NMXJ7Y except for notes of loans

and sales, which these notes are merely used for proof -
— P10 ©IY 1Y 29 5Y DU PN
And no acquisition is accomplished by the testimony of the nx37y -
— NDIINTI 12 HNPY 95 PN 13NN 90V Yan
However a i71n» 9uw is not fit XN to acquire something with it -
— P90 NYYa 09U DY Y 19 ON NYN
Unless there are proper Jewish 237y at the time of transferring the ~ow.

mMooIn explains that 777707 *7Y (or its equivalent) is necessary by a 7inn 0w:

— 95010 %19 XY 92 MIPY TYWI IRIYH 12 19HNY NINN TOVY Panx ON 1959N)
And even if we were to say that a ;7in» "uvw which Jewish witnesses
signed is "w> to acquire with it (even) without ;79502 37¥ (nevertheless, this
does not contradict the premise mentioned above that there is a need for 77°0n *7¥ in order
to be 1P with a 7101 MWW, because) -

— %9910 19 059U 11Y N1INN S1Y 515 IY TPY DIVN 199N
That is because it is known through the 2307 >7v who are 77077 32 "w> -
— Thamnn 99 130 I YOWH NaY

"% mooin is (perhaps) responding to the question that just as the 00 were Jpnn to accept the testimony of
M2y regarding a loan or a sale (see following footnote # 11), why cannot we accept their testimony
regarding a minn. Concerning a v3 it is understood that since they are m7v% 2100 there can be no v3 and the
o751 cannot change this rule and permit an ¥°X NWX to marry; however concerning money matters; just as
we believe them regarding 7791 we should also accept their testimony regarding a 7n.

"1t is evident from the words o°nan 1PN that (even) regarding a M the NMIXIY are not RN»IRTH W;
however, the 0°n2n were Jpnn (because of N13%1 M7w) that their testimony be accepted.

2 moon is answering that concerning verification of an act (a 7°X1 7vW), such as a loan or a sale (where no
77°0m 7Y are necessary) and the transaction is accomplished without the 70w (by the transference of money
for instance), the o5 were willing to grant the power to the N2y to verify the transaction (because they
are saying the truth, and they do not create any change in ownership). However by a min» quw which is a
1P WY (where 77°0n *7Y are necessary), the 211 were reluctant to give the nIX27Y the power to create a
new reality by changing the ownership status of the 71n» from the grantor to the recipient.

1> We are now following the view of X" that *n3 2"y.

1 See H"»p7 1" X,7 Moo towards the end, 121 porL W N

' Seemingly just as by a fann Tuw without "y (and only 1"Y) it is 7w because we know that there was an
intent to grant this gift and the 70w was transferred, similarly since the nX>7y signed on the 7101 WY we
have the same verification that the 710 70w was transferred to the recipient.

'® These m°nni »79 are 77n71 12 2w therefore they can create virtual 77°0n *7v (see following footnote # 17),
however 0"y who are n'" MY 9109, so even though they are 1283, nevertheless they cannot create virtual
117°01 "7V,

' The m>nn >7v sign the 7am» Tow at the request of the grantor of the gift (not the recipient). It is obvious
that after they sign it, they give it to the grantor who in turn gives it to the recipient. It is as if the two
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That the "vw passed from the giver to the recipient -
— 07y /P2 NNV 1M HNTINA 9V 1

And similarly a 7inn qvw (without '*0>7v) is 7w if the grantor admits that
he transferred it to the recipient, for his admission (to his own detriment) is

considered the equivalent to (the testimony of) a hundred witnesses. In all

these cases the mnn W is effective since there is the equivalent of 777701 >7Y.
— ©%2515 Y721¥ 12 PHPMNY VYA YaN

However, by a "uw which 2"y sign -
— 127 Yya ARNN XD YN 0I9VIY NNNN STY XY 19201 »1Y N 13 PRY

In which there are no 779°0» 37¥ and no 701 >7v who are fit to testify,

and no admission of the grantor, this type of 7ann 0w -
— NYYA RODN KON M1 89 915 5y mapy ow 2wn &Y

Is not considered a "vw with which to acquire anything, but rather it is a

NDYa RDOM. Therefore even if there were 71700 >79, the 7107 0w would not be effective
because we are concerned that they may mistakenly use the Mx>7y without 77°0n 7Y
5xwe, which is ineffective.

mooIn rejects a possible alternate explanation why a 71n» 0w which is signed by nIR3Y
is a Xn%va ¥oon (and 77907 7V are insufficient):
— N1IYYa NODN N 2YN 99NYT 99D PPN DaN

However one cannot answer that the reason the 71nn 20w is considered a

NnbYa NDOT is -
— MLV INVY 7N NINM TVY XY PRNINNT DIVN

Because since our ;11w% included 71n» auw together with all other nyauw -
— Y1919 N0 7Y 2NN RY RNYWNT 02910 2721y 1NNHNI 1NN 199N DYWIT

Which are =w> even if they were written and signed by 2"p,” so that
now the 777°on 7 will not accomplish anything® —

signers testify that it was in the hands of the grantor and then passed to the hands of the recipient
(otherwise, how is the recipient in possession of the 7inn qvw). We have virtual 77°0n »7v.

' There is a dispute among the commentaries what moo)n means with 1M1 nX772"; whether we are
discussing a 70w which the grantor wrote or signed or whether we are discussing a 73n»n “Ww which is not
signed at all, merely that the grantor admits to giving this 70 to the recipient. See n'"m2.

" See “Thinking it over # 2.

20 nooIn assumes that since 7 W is included when the 73wn states MALVY 53, therefore the case where
731N WY is W2 is in the exact same situation where NMMYY XY are W, namely even if 2"13¥ 131 102°ND. See
‘Thinking it over’ # 1.

?! See the X3 on X,%° where it questions the utility of 77°0n *79 by a X079 0w, since the 0¥ cannot read
the "vw. Therefore we could not have said here that there are 77°07 °7V, since even if there were 77°01 7V it
would be useless for they cannot read the 771nn 7w, since it was written by the 2"y (See 5"V fin Nk 7"210
7910 2n2). For alternate explanations see 1"nR # 95 — 97.
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mooIn rejects this explanation:
— YW Y05 1PN MNIIYA DIIVIT MIVYN Y3 113 915 Z1mpat xnraaa NNT

For the xn»=22 shortly includes together all the nymuw that are =w> by

NINDTY, even 2O YW -
— 1901 *1¥2) INIYS NN RIN PV 199N NY 391 1999N)

But nevertheless we do not validate the 2°w1 sus unless it was written by
a N (for a LA requires WY 72°n2) and there were 790R 7Y -

1749 . Pyay 953 9w MIOY INYA
And by the other nymuw it is "w> in any manner (even if it was written by
0"12y, and without 77°07% >7¥). [The above is the view of] the 5''=.

SUMMARY

Even according to X"7 a 71nn 70w that was signed by mMX27Y and there were
X 2"y would be 9109 (if not for Xn19917 R31>7) because of the concern that
there may not be PX%° n"y and then it is 2105 since the NX37Y have no power
to effect a 1Ip.

THINKING IT OVER

1. mpdoIN proposes an explanation why we do not establish the case of 7nn
with n"¥, because since the 71wn» includes 71n» WY with other MvY where it
1s 73 even if they were written and signed by 2"y, in which case n"v are
of no avail.** Why could not have n»o1n simply said since he includes mn»
in NMLY RW, and by MIvw XY there is no need for »"v, therefore we must
say that 71n» q0w is also Tw> without »"y?>

2. Why is a 71nn 7ow which is signed by nX27v (so we know that the 12
gave it to the 5:1|773)26 different than 1M1 nX777 which 1s sufficient?”’

2R,

* This proves that the fact that various n1vw are included does not mean that the inclusive ruling applies to
all the mAvW in the same situation. In the 7702 XnN»72 all MV are W2 in any event but AWK V3 is W only
7707 2T¥) PRI N2°na3, similarly even though mann qww is included in our 7awn with MIvw IRY as being
qw3 by m&37y, nevertheless we could differentiate and say the minn qww is 2w> only if there is Xw” 2n>
and ;77°0n >7¥ who can read the 7vw. Therefore we must revert to the original answer of the >".

** See footnote # 20.

* See n"n.

% See footnote # 19.

%7 See n"m.
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